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PelueHne 3apau:
* [lo roToBbIM YepTeXam



Ne1.Hauntn: AOC:; AOD







Hantn: DBC ; ABF;




AOD=120°CO AO
Hantn: BOD-?




NMO LMN=2:7
Hantn: LMR; RMO -7







2- 1=80%a||b
Hauntn: 3, 4- 7




Havutu: BDE, BDC, EDK- 7




Hauntin:

BCD -

?




BE-Obuccektpuca ABC
Hauntu: BED - 7

C




AD || BE;AC n BC-6uccektpucsl BAD
n ABE.
A Hantn: ACB-?




AC-buccektpuca BAE;
CDE: AED=7:8
Hantn: DEF-?
C D

120°




B Ha 20%6onbwe C
Hantm: B, C-7




A B 3 pa3a MeHblle B

Hantn: A, B-7?
B




[NomalHaa paboTa

3agaydn Ne3(cnangd)’/
(cnana8)8(cnang9)10
(cnang11)12(cnana13)13(cnanai4)



